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Reteaching
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The Pythagorean Theorem and Its Converse
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The Pythagorean Theorem can be used to find the length of a side
of a right triangle.
Pythagorean Theorem: a2 + b2 = c2, where a and b are the legs of
a right triangle, and c is the hypotenuse.
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What is the value of g? Leave your answer in simplest radical form.
Using the Pythagorean Theorem, substitute g and 9 for the legs
and 13 for the hypotenuse.
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Substitute.
Simplify.
Subtract 81 from each side.
Take the square root.
Simplify.
The length of the leg, g , is 
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.
Exercises
Identify the values of a, b, and c. Write ? For unknown values. Then, find the
missing side lengths. Leave your answers in simplest radical form.
	1.
	2.
	3.
	4.


5.
A square has side length 9 in. What is the length of the longest line segment
that can be drawn between any two points of the square?
6.
Right ∆ABC has legs of lengths 4 ft and 7 ft. What is the length of the
triangle’s hypotenuse?
7.
Televisions are sold by the length of the diagonal across the screen. If
a new 48-in. television screen is 42 in. wide, how tall is the screen to
the nearest inch?
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Reteaching (continued)

The Pythagorean Theorem and Its Converse

Use Theorems 8-3 and 8-4 to determine whether a triangle is acute or obtuse.
Let a and b represent the shorter sides of a triangle and c represent the
longest side.
If a2 + b2 > c2, then the triangle is acute
If a2 + b2 < c2, then the triangle is obtuse.

A triangle has side lengths 6, 8, and 11. Is the triangle acute, obtuse, or right?
Identify a, b, and c.
Substitute to find a2 + b2.
Substitute to find c2.
Compare a2 + b2 and c2.
a2 + b2 < c2, so the triangle is obtuse.

Exercises
The lengths of the sides of a triangle are given. Classify each triangle as acute,
right, or obtuse.
	8.
7, 9, 10
	9.
18, 16, 24
	10.
3, 5, 
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	11.
10, 10, 
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	12.
8, 6, 10.5
	13.
7, 
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	14.
22, 13, 23
	15.
17, 19, 26
	16.
21, 28, 35


17.
A local park in the shape of a triangle is being redesigned. The fencing around
the park is made of three sections. The lengths of the sections of fence are 27 m,
36 m, and 46 m. The designer of the park says that this triangle is a right triangle.
Is he correct? Explain.

18.
Your neighbor’s yard is in the shape of a triangle, with dimensions 120 ft, 84 ft,
and 85 ft. Is the yard an acute, obtuse, or a right triangle? Explain.
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